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FE 4 e BRI R DR | mmewan | JER pawoon | e &
1 B TR 001 b 2% TR 2 Bt 081700 T SHE AR 4= H il JERi S 92.0
2 TRV 001 15 TR A B 081700 % TRSHEAR 4= H il HiHAE 91.8
3 B 001 b2 TR 081700 2 TRSHEAR 4= H il JENES 89.0
4 R 001 b2 TR 081700 s TR HEA 4 H il HiA 90.6
5 X 001 b 2% TR 2 B 081700 T SHE AR 4= H il JERi S 90.4
6 BRAER 001 1% TR A B 081700 % TRSHEAR 4= H il HiHAE 93.4
7 2 B o 001 b 2% TR 2 Bt 081700 T SHE AR 4= H il JERi S 89.0
8 T8 001 b5 TR Bt 081700 e TRSEAR 4= H il JER D 90.4
9 s 001 b2 TR 081700 2 TRSHEAR 4= H il fifi + 92.6
10 XK 001 b5 TR 2 Bt 081700 S TRSHEAR 4= Hi fii+: 96.8
11 MRS 001 b2 TR 081700 2 TRSHEAR 4= H il fifi + 94.0
12 T L4, 001 b5 TR Bt 081700 % TRSEAR 4= H il fiji -t 93.8
13 ot 001 b2 TR 081700 2 TRSHEAR 4= H il fifi + 92.4
14 ik =5 By 001 b5 TR Bt 081700 % TRSEAR 4= H il fiji -t 89.0
15 Ak 001 b2 TRE S B 081700 1 TR HA 4 Hl fifi + 92.2
16 Hizil 001 b5 TR B 081700 12 TR SHEA 4 [ il fiji I 93.0
17 il ¥s) 001 b2 TR 081700 2 TR HA 4 Hl fifi 1 91.8
18 & 001 b5 TR B 081700 12 TR SHEHA 4 [ i) fiji I 88.0
19 RIS 001 b2 TR 081700 2 TR HA 4 Hl fifi + 94.2
20 RN 001 b5 TR B 081700 12 TR SHEA 4 [ i) fiji+ 87.6
21 Ik 0% 001 b2 TR 081700 2 TR HA 4 Hl fifi + 95.0
22 SR 001 b5 TR Bt 081700 12 TS HEA 4 [ i) fiji+ 92.6
23 I 001 1% TR B 081700 S TR SHE AR A H il fifi -+ 92.8
24 TR LR 001 b5 TR B 081700 1 TRSHEA 4 H fiji I 93.0
25 Bk 001 b2 TR 081700 1 TR HA 4 H fifi + 95.0
26 Tk 001 b5 TR B 081700 W TRSHEA 4 H fiji+ 92.0
27 XI5 57 001 12 TR 081700 1 TR HA 4 H fifi + 92.0
28 XI5 55 001 b5 TR B 081700 W TRSHEA 4 H fiji I 89.0
29 AT K 001 1% TR B 081700 S T SHEAR A= Hiil fifi+ 89.8
30 HIN 001 b5 TR 2 B 081700 e TRSHEAR 4= H fiji - 91.0
31 AN 001 12 TR 081700 s TR HEA E=kil fifi + 89.8
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32 08 001 b5 TR 2 B 081700 e TRSHEAR 4= H il fiji - 88.0
33 B e 001 b TR 081700 s TR HEA 4 H il fisi + 93.2
34 X & 001 1% TR B 081700 T SHEAR 4= H il T -1 85.0
35 ¥ B4 001 b2 TREE B 081700 s TR HEA 4 H il fisi + 94.6
36 = 001 1% TR B 081700 T SHE AR 4= H il fi -1 89.4
37 A 001 b2 TR 081700 s TR HEA 4 H il fiji -+ 90.6 E BRI
38 B 001 b2 TR 081700 2 TRSHEAR 4= H il fifi+ 98.0
39 RN 001 b2 TREE B 081700 s TR HEA 4 H il fisi + 89.6
40 (SRS 001 1% TR B 081700 T SHE AR 4= H il T -1 95.0
41 R 001 b5 TR Bt 081700 % TRSEAR 4= Hi fii+: 87.0
42 XK EH 001 b2 TR 081700 2 TRSHEAR 4= H il fifi + 90.6
43 FEJRAE 001 b5 TR Bt 081700 S TRSEAR 4= H il fifi + 89.6
A4 | IR S R 001 b2 TR 081700 2 TRSHEAR 4= H il fifi + 91.0
45 e fa ol 001 b5 TR 2 Bt 081700 % TRSEAR 4= Hi fii+: 95.0
46 F M 001 b2 TR 081700 2 TRSHEAR 4= H il fifi + 86.0
47 A 001 b5 TR Bt 081700 % TRSEAR 4= Hi fii+: 89.2
48 7% Wi 001 b2 TR 081700 2 TR HA 4 Hl fifi + 88.0
49 ZENL] 001 b5 TR B 081700 12 TR SHEA 4 [ i) fiji I 89.0
50 YA 001 b2 TR 081700 2 TR HA 4 Hl fifi 1 89.6
51 X B 001 b5 TR B 081700 12 TR SHEA 4 [ i) fiji I 95.0
52 KA 001 b2 TR 081700 TR HA 4 Hl fifi + 92.0
53 B 001 b5 TR B 081700 12 TR SHEHA 4 [ i) fiji+ 91.0
54 Ji 47 1% 001 b2 TR 081700 2 TR HA 4 Hl fifi + 91.2
55 RS 001 b5 TR Bt 081700 12 TS HEA 4 [ i) fiji -t 93.6
56 X ZBH 001 1% TR B 081700 S TR SHE AR A H il fifi + 91.8 JE SR T I
57 R EES 001 b5 TR B 081700 W TRSHEA 4 H fiji I 93.0
58 i e H 001 12 TR 081700 1 TR HA 4 H fifi + 86.0
59 X F5 001 b5 TR B 081700 W TRSHEA 4 H fiji+ 94.0
60 o] Y 001 12 TR 081700 1 TR HA 4 H fifi + 88.4
61 T 001 b5 TR B 081700 W TRSHEA 4 H fiji I 90.6
62 &M 001 12 TR 081700 s TR HAR 4= H il fifi + 89.0
63 Witk 001 b5 TR 2 B 081700 e TRSHEAR 4= H il fiji - 94.0
64 FE4A 001 12 TR 081700 s TR HEA E=kil fifi + 87.0
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65 FITE 001 b5 TR 2 B 081700 e TRSHEAR 4= H il fiji - 84.0
66 B L 001 b TR 081700 s TR HEA 4 H il fisi + 94.6
67 P2 001 1% TR B 081700 T SHEAR 4= H il T -1 82.0
68 A=) 001 b2 TREE B 081700 s TR HEA 4 H il fisi + 95.0
69 EEiE 001 1% TR B 081700 T SHE AR 4= H il fi -1 91.8
70 FRITAR 001 b2 TR 081700 s TR HEA 4 H il fisi + 90.4
71 SEIRI 001 1% TR B 081700 T SHE AR 4= H il fi -1 96.0
72 IR 001 b2 TREE B 081700 s TR HEA 4 H il fisi + 94.0
73 XA 001 1% TR B 081700 T SHE AR 4= H il T -1 90.0
74 & 001 b5 TR Bt 081700 % TRSEAR 4= H il fiji -t 83.0
75 INEEAR 001 b2 TR 081700 2 TRSHEAR 4= H il fifi + 90.4
76 S 001 b5 TR Bt 081700 S TRSEAR 4= H il fiji -+ 95.0
77 HEE 001 1% TR B 081700 T SHE AR 4= H il T -1 85.0
78 i Y 7l 001 b5 TR 2 Bt 081700 % TRSEAR 4= Hi fii+: 85.5
79 AR JA 001 b2 TR 081700 2 TRSHEAR 4= H il fifi + 86.8
80 BT M 001 b5 TR Bt 081700 % TRSEAR 4= Hi fii+: 87.4
81 JA T 001 b2 TR 081700 2 TR HA 4 Hl fifi + 83.0
82 15 5 W 001 b5 TR B 081700 12 TR SHEA 4 [ i) fiji I 86.0
83 fMC R 001 b2 TR 081700 2 TR HA 4 Hl fifi 1 86.0
84 TNy 001 b5 TR B 081700 12 TR SHEA 4 [ i) fiji I 88.0
85 e 001 b2 TR 081700 TR HA 4 Hl fifi + 84.0
86 P& H 001 b5 TR B 081700 12 TR SHEHA 4 [ i) fiji I 85.0
87 AT 001 b2 TR 081700 2 TR HA 4 Hl fifi + 86.4
88 TR AR 001 b5 TR Bt 081700 12 TS HEA 4 [ i) fiji+ 82.5
89 RERN A 001 b2 TR 081700 1 TR HA 4 H fifi + 89.5
90 T4 001 b5 TR B 081700 W TRSHEA 4 H fiji+ 93.2
91 A e 001 1% TR B 081700 S TR SHE AR A H il fifi -+ 90.2
92 IR IE 001 b5 TR B 081700 W TRSHEA 4 H fiji I 88.0
93 e 001 12 TR 081700 1 TR HA 4 H fifi + 88.6
94 T 001 b5 TR B 081700 W TRSHEA 4 H fiji I 90.0
95 L] 001 1% TR B 081700 S TR SHE AR A= Hiil fifi+ 92.0
96 FAEE 001 b5 TR 2 B 081700 e TRSHEAR 4= H il fiji - 88.0
97 FRREAR 001 12 TR 081700 s TR HEA E=kil fifi + 85.0
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98 IR, 001 b5 TR 2 B 081700 e TRSHEAR 4= H il fiji - 80.5

99 FNTF 001 b TR 081700 s TR HEA 4 H il fiji -+ 83.0

100 R EES 001 1% TR B 083000 WERL S T 4= Bl T -1 88.0

101 T 001 b2 TREE B 083000 WER S S TR 4 H il fiji -+ 90.0

102 BT 001 1% TR B 083000 WERL S T Ex=kil fi -1 92.5

103 IDRGERE 001 b2 TR 083000 WER S S TR 4 H il fifi 1 92.2

104 BEAT 001 1% TR B 083000 WERL S T 4= Bl fi -1 96.2

105 SRR 001 b2 TREE B 083000 WER S S TR 4 H il fist £ 94.6

106 ik I 001 1% TR B 083000 WERL S T 4= H Tt 95.8

107 o 001 b5 TR Bt 083000 WER S S TR 4= H il fii+: 92.6

108 AR 001 15 TR B 083000 RS TR 4= Hl T -1 91.0

109 ST 001 b5 TR Bt 083000 WER S S TR 4= H il fii+: 96.4

110 R 001 1% TR B 083000 RS TR 4= Hl T -1 93.6

111 T 001 b5 TR 2 Bt 083000 WER S S TR 4= H il fii+: 94.0

112 B Es 001 1% TR B 083000 RS TR 4= Hl T -1 95.0

113 T 001 b5 TR Bt 083000 WER S S TR 4= H il fifi + 92.2

114 AR YL 001 15 TR B 083000 WER S TR 2= Hiil fi-1: 93.0

115 5 HF 001 b5 TR B 083000 WER S TR 4= Hii fiji+ 82.0

116 XM 001 15 TR B 083000 WER S TR 2= H il fi-1: 92.2

117 JER 3 001 b5 TR B 083000 WER S TR 4= Hii fiji+ 92.2

118 Ll 001 15 TR B 083000 WER S TR 2= H il fi-1: 95.8

119 S 001 b5 TR B 083000 WER S TR 4= Hii fiji+ 92.2

120 e 001 b2 TRE S B 085600 MELS T 4= H il A 78.0 AT B 7
121 PR 001 b5 TR Bt 085600 MRS T 4= H i JEN e 86.57 BB G R+
122 PN 001 A TR B 085600 MELS T 4= H il A 91.71 AT B 7
123 XA 001 b5 TR B 085600 MRS T 4= H il JERE %D 86.14 ARG R+
124 EIRG 001 b2 TR B 085600 ARSI T A H il JERES 79.86 AT B 55
125 5K A B 001 b5 TR B 085600 MRS T 4= H il JERE %D 88.71 R E R+
126 T 001 s TR B 085600 MELS T 4= H il A 90.0 AT 5 77
127 SLE 001 b5 TR B 085600 MRS T 4= H il JERE %D 85.0 R E R+
128 EGE: 001 1% TR B 085600 MRS T A= Hiil JERES 82.71 AT B 55
129 R 001 b5 TR 2 B 085600 MRS T 4= Bl fiji - 92.0 R E R+
130 TH 001 15 TR A B 085600 MRS T 4= H il fiyi+ 92.14 AT B 5
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BRE
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131 % 001 b5 TR 2 B 085600 MRS T 4= Bl fiji - 79.43 ARG R+
132 7K IR 001 b TR 085600 MEHS T 4 H il fiji -+ 90.0

133 B 001 1% TR B 085600 MRS T 4= Bl T -1 65.29 ARG R
134 il JEAE: 001 b2 TREE B 085600 MEHS T 4 H il fifi 1 70.0 B A A B 77
135 ZNIK 001 1% TR B 085600 MRS T Ex=kil fi -1 78.5

136 BR 001 b2 TR 085600 MEHS 4T 4 H il fifi 1 85.57 B ASIA 5 77
137 [V 001 1% TR B 085600 MRS T 4= Bl fi -1 88.65 ARG R
138 XV 001 b2 TREE B 085600 MEHS T 4 H il fifi 1 80.57 B A IA B 77
139 HEY 001 1% TR B 085600 MRS T 4= Bl T -1 80.57 ARG R
140 = i BH 001 b5 TR Bt 085600 MRS T 4= H il fifi+ 78.86 WA B AR 7
141 XL 001 b2 TR B 085600 MRS T 4= H il fifi + 92.43 AR B 7
142 ZERE I 001 b5 TR Bt 085600 MRS T 4= H il fifi + 79.71 WA B AR 77
143 HRLE 001 b2 TR B 085600 MRS T 4= H il fifi + 72.42 AR B 7
144 BT 001 b5 TR 2 Bt 085600 MRS T 4= H il fifi + 83.57 WA B AR 77
145 BNE 001 b2 TR B 085600 MRS T 4= H il fifi + 75.57 AR B 7
146 XA 001 b5 TR Bt 085600 MRS T 4= H il fiji -t 85.86 WA B AR 77
147 TIFR 001 W TRE2E R 085700 ZHR S PR 2 H fi-1: 94.0

148 AL Fh e 002 MAERLE S TR 070300 b2 4 [ i) fiji+ 89.2

149 BRIk 002 PRLRN# 5 TR 2B 080500 MEEFE S TR 4= H il HAE 94.4

150 HIANFE 002 MAERLE S TR 080500 MEE S TR 4= Hii JEN i 88.0

151 T K 002 PRLRN# 5 TRE2EB 080500 MEEF: S TR 4= H il HAE 87.4

152 TR IR 002 MAERL S TR 080500 MEE S TR 4= Hii JEN e 94.8

153 SR 002 PELRFE 5 T2 080500 MEEE S TR 2= H il JERi%S 92.4

154 Tk I5IH 002 MAERL S TR 2R 080500 MEE S TR 4= H i JEN e 90.8

155 Fe 002 MRVRFE 5 TR 2 080500 MEEE S TR A H il JERES 88.6

156 K A 002 MAERL S T2 080500 MEE S T 4= H il JERE %D 90.6

157 Z=—% 002 PRVRFE 5 T2 2 080500 MEEE S TR A H il JERES 91.0

158 JE Bl 002 MAERL S T2 080500 MEE S T 4= H il JERE %D 87.2

159 o] S i 002 MRVRFE 5 TR 2 080500 MEEE S TR A H il JERES 91.0

160 [EPAPN 002 MAERL S T2 080500 MEE S T 4= H il JERE %D 95.6

161 A 002 PEVRLE 5 TR 2B 080500 MEEE S TR A= Hiil JERES 87.0

162 R LA 002 MERL S T2 2R 080500 MEEE S T 4= Bl JEREn 91.4

163 FH U S 002 MR 5 T2 2R 080500 MEEE S TR 4= H il fiyi+ 92.4
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164 ENON 002 MERL S T2 080500 MEE S T 4= Bl fiji - 90.4
165 R 002 MRS TR R 080500 MEEE S TR 4 H il fifi 1 95.2
166 AR 002 MERFE S T2 2 080500 MEE S T 4= H Tt 93.0
167 EiSiss 002 MRS TR R 080500 MEEE S TR 4 H il fist £ 84.6
168 XS 002 MERFE S T2 2 080500 MEE S T Ex=kil fi -1 93.6
169 o 002 MRS TR R 080500 MEEE S TR 4 H il fiji -+ 89.8
170 X 1 002 MERFE S T2 2 080500 MEE S T 4= Bl fi -1 83.6
171 EISEE: 002 MRS TR R 080500 MEEE S TR 4 H il fiji -+ 93.6
172 X7 002 MERFE S T2 2R 080500 MEE S T 4= Bl T -1 89.0
173 SERR S 002 MAERL S TR 2R 080500 MEE S S TR 4= H il fii+: 84.4
174 15 A 002 PERFE 5 T2 2 080500 MEEFE: S TR 4= Hl T -1 94.4
175 N 002 MERLE S TR 2R 080500 MEE S S TR 4= H il fiji -t 85.8
176 R A 002 PERF 5 T2 2 080500 MEEFE: S TR 4= Hl T -1 87.4
177 N CHF 002 MRLEL 5 TR 2B 080500 MEEE S TR 4= H il fii+: 84.0
178 bilied) 002 PERFE 5 T2 2 080500 MEEFE: S TR 4= Hl T -1 87.6
179 ATE MG 002 MRLEL 5 TR 2B 080500 MEEE S TR 4= H il fii+: 92.0
180 [ 002 MEHRFE 5 T2 080500 eSS TR 2= Hiil fi-1: 87.4
181 HICAL 002 MAERLE S TR 080500 MEE S TR 4= Hii fiji+ 94.0
182 T 002 PEHRFE 5 T2 080500 MEEE S TR 2= H il fi-1: 89.6
183 = 002 MAERLE S TR 080500 MEE S TR 4= Hii fiji I 93.8
184 EES 002 PEHRFE 5 T2 080500 eSS TR 2= H il fi-1: 95.0
185 WEITUK 002 MAERL S TR 080500 MEE S TR 4= Hii fiji+ 89.2
186 Trih 002 PELRFE 5 T2 080500 MEEE S TR 2= H il fi-1: 89.2
187 iR 002 MAERL S TR 2R 080500 MEE S TR 4= H i fiji -t 88.8
188 LS e 002 MRVRFE 5 TR 2 080500 MEEE S TR A H il fifi -+ 89.0
189 1k JEAL 002 MAERL S T2 080500 MEE S T 4= H il fiji+ 91.4
190 RH; 002 PRVRFE 5 T2 2 080500 MEEE S TR A H il fifi -+ 87.6
191 B A 002 MAERL S T2 080500 MEE S T 4= H il fiji+ 87.4
192 RIR WG 002 MRVRFE 5 TR 2 080500 MEEE S TR A H il fifi -+ 87.6
193 &4 002 MAERL S T2 080500 MEE S T 4= H il fiji+ 92.4
194 F 5 002 PEVRLE 5 TR 2B 080500 MEEE S TR A= Hiil fifi+ 89.2
195 2R 002 MERL S T2 2R 080500 MEE S T 4= Bl fiji - 86.8
196 M 002 MR 5 T2 2R 080500 MEEE S TR 4= H il fiyi+ 83.8
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197 52 3L 002 MERL S T2 080500 MEE S T 4= Bl fiji - 89.2
198 R 002 MRS TR R 080500 MEEE S TR 4 H il fiji -+ 86.6
199 A St 002 MERFE S T2 2 080500 MEE S T 4= Bl T -1 92.2
200 T e 002 MRLEL 5 TR 2R 080500 MEEE S TR 4= H il fifi + 87.4
201 i 002 MEBLEL 5 TR 5B 080500 MEE S T Ex=kil fi -1 96.6
202 el 002 MRS TR R 080500 MEEE S TR 4 H il fifi 1 91.0
203 R 002 MEBLEL 5 TR 080500 MEE S T 4= Bl fi -1 92.4
204 7 7P 002 MRS TR R 080500 MEEE S TR 4 H il fifi 1 86.2
205 IR 002 MR 5 TR 5B 080500 MEE S T 4= Bl T -1 93.4
206 FRER 002 MAERL S TR 2R 080500 MEE S S TR 4= H il fiji -t 93.0
207 HAML 002 PERFE 5 T2 2 080500 MEEFE: S TR 4= Hl T -1 86.4
208 J&if) 002 MRLEL 5 TR 2B 080500 MEE S S TR 4= H il fii+: 88.4
209 sk LN 002 PERF 5 T2 2 080500 MEEFE: S TR 4= Hl T -1 88.4
210 TS 002 MEEL S TR 2R 080500 MEEE S TR 4= H il fifi + 92.8
211 kAN 002 PERFE 5 T2 2 080500 MEEFE: S TR 4= Hl T -1 84.6
212 I SiES 002 MERL S TR 2R 080500 MEEE S TR 4= H il fiji -t 88.8 X H A
213 G2 002 MEHRFE 5 T2 080500 eSS TR 2= Hiil fi-1: 88.0
214 A 002 MAERLE S TR 080500 MEE S TR 4= Hii fiji I 88.6
215 FREH 002 PEHRFE 5 T2 080500 MEEE S TR 2= H il fi-1: 88.4
216 WA 002 MAERLE S TR 080500 MEE S TR 4= Hii fiji I 88.6
217 T 002 PEHRFE 5 T2 080500 eSS TR 2= H il fi-1: 85.6
218 T Yt 002 MAERL S TR 080500 MEE S TR 4= Hii fiji I 90.8
219 25K ik 002 PELRFE 5 T2 080500 MEEE S TR 2= H il fi-1: 88.4
220 LR 002 MAERL S TR 2R 080500 MEE S TR 4= H i fiji+ 93.4
221 THREN 002 MRVRFE 5 TR 2 080500 MEEE S TR A H il fifi -+ 84.8
222 TRk 002 MAERL S T2 080500 MEE S T 4= H il fiji+ 91.0
223 B R 002 PRVRFE 5 T2 2 080500 MEEE S TR A H il fifi -+ 88.2
224 RAEETR 002 MAERL S T2 080500 MEE S T 4= H il fiji+ 86.2
225 S 002 MRVRFE 5 TR 2 080500 MEEE S TR A H il fifi -+ 88.6
226 R 002 MAERL S T2 080500 MEE S T 4= H il fiji+ 88.2
227 ZEME 002 PEVRLE 5 TR 2B 080500 MEEE S TR A= Hiil fifi+ 90.4
228 T30 002 MERL S T2 2R 080500 MEE S T 4= Bl fiji - 87.0
229 A=Yy 002 MERLE S TR R 080500 MEEE S TR 4 H il fifi + 87.4
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230 XK 002 MERL S T2 080500 MEEE S T 4= Bl fiji - 93.4

231 XS 002 MRS TR R 080500 MEEE S TR 4 H il fifi 1 88.4

232 FE5 002 MBS TR 5B 080500 MEE S T 4= Bl T -1 90.4

233 o 002 MRS TR R 080500 MEEE S TR 4 H il fist £ 86.2

234 BN 002 MERFE S T2 2 080500 MEE S T 4= H Tt 90.2

235 P ARES 002 MRS TR R 080500 MEEE S TR 4 H il fifi 1 92.0

236 ERIE 002 MERFE S T2 2 080500 MEE S T 4= Bl fi -1 89.2

237 X4 002 MRS TR R 080500 MEEE S TR 4 H il fifi 1 86.2

238 51 002 MERFE S T2 2R 080500 MEE S T 4= Bl T -1 92.8

239 Ny 002 MAERL S TR 2R 080500 MEE S S TR 4= H il fiji -t 89.8

240 Tk KFF 002 PERFE 5 T2 2 080500 MEEFE: S TR 4= Hl T -1 88.2

241 HIrE 002 MERLE S TR 2R 080500 MEE S S TR 4= H il fiji -t 89.8

242 H B 5 002 PERF 5 T2 2 080500 MEEFE: S TR 4= Hl T -1 89.6

243 A3 3L 002 MEEL S TR 2R 080500 MEEE S TR 4= H il fifi + 92.6

244 1S ZE I 002 PERFE 5 T2 2 080500 MEEFE: S TR 4= Hl T -1 87.8

245 AR 002 MERL S TR 2R 080500 MEEE S TR 4= H il fii+: 93.0

246 AREREH 002 MEHRFE 5 T2 080500 eSS TR 2= Hiil fi-1: 88.6

247 W 002 MAERLE S TR 080500 MEE S TR 4= Hii fiji+ 84.4

248 Fhiz 002 PEHRFE 5 T2 080500 MEEE S TR 2= H il fi-1: 92.8

249 NS 002 MAERLE S TR 080500 MEE S TR 4= Hii fiji I 90.6

250 EHM 002 PEHRFE 5 T2 080500 eSS TR 2= H il fi-1: 91.2

251 R IEFT 002 MAERL S TR 085600 MRS T 4= Hii JEN e 81.1 RABE R+
252 FE KT 002 PRLRN# 5 TR 2B 085600 MELS T 4= H il HAE 88.7 AT B 7
253 A 002 MAERL S TR 2R 085600 MRS T 4= H i JEN e 88.6 BB G R+
254 ER 002 MRS TR 085600 MELS T 4= H il HAE 90.1 AT B 7
255 ) 002 MAERL S T2 085600 MRS T 4= H il JERE %D 86.57 ARG R+
256 AR 002 MR TR 085600 MELS T 4= H il HE 90.14 AT 5 7
257 875 002 MAERL S T2 085600 MRS T 4= H il fiji+ 88.4 R E R+
258 XI|J 2 002 MERLE S TR R 085600 MELS T 4= H il fifi + 89.4

259 [RE 002 MAERL S T2 085600 MRS T 4= H il fiji+ 86.2

260 DI 002 MRS TR R 085600 MELS T 4= H il fifi + 88.4

261 JE TN A 002 MERL S T2 2R 085600 MRS T 4= Bl fiji - 79.29 R E R+
262 S PRI 002 MERFE:S TRE%6 085600 MES T 4 H il fifi + 82.14 AT B 77
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263 LR 002 MERL S T2 085600 MRS T 4= Bl fiji - 76.57 ARG R+
264 BT 002 MRS TR R 085600 MEHS T 4 H il fifi 1 85.14 B A IS 5 77
265 TFEM 003 B TR 27 Bt 080200 WL TFE 4= H Tt 90.0
266 RRE 003 HLHL TRt 080200 BB T2 4 H il fiji -+ 88.5
267 BT 003 ML T FE 2 Bt 080200 WL TFE Ex=kil fi -1 85.67
268 T 003 HLHL TRt 080200 BB T2 4 H il fiji -+ 85.33
269 B 003 B TR 27 Bt 080200 WL TFE 4= H Tt 905
270 FEX B 003 HLHL TRt 080200 BB T2 4 H il fifi 1 85.17
271 KM & 003 B TR 27 Bt 080200 WL TAE 4= H Tt 875
272 iz 003 B TR 2 Bt 080200 WL TLAE 4= H il fifi+ 85.17
273 XA 003 B TR 2 Bt 080200 WU TR 4= Hl T -1 85.17
274 AN 003 B TR 2 Bt 080200 WL TAE 4= H il fifi + 82.17
275 Jik A 003 MLHL TR 080200 HUBE T FE 4= H il fifi + 87.67
276 A 003 ML FE TR 2 Bt 080200 WL TAE 4= H il fifi + 89.17
277 hFER 003 B TFE 2 Bt 080200 WU TR 4= Hl T -1 78.0
278 2= 003 ML FE TR 2 Bt 080200 WL TAE 4= H il fifi + 84.83
279 TR 003 B TR 2 Bt 080200 WU TFE 2= Hiil fi-1: 88.0
280 QUL 003 ML TRE 2 Bt 080200 WL TAE 4= Hii fiji I 83.5
281 FER S 003 B TR 2 Bt 080200 WU TFE 2= H il fi-1: 87.17
282 X F I 003 ML TRE 2 Bt 080200 WL TAE 4= Hii fiji+ 81.83
283 fi 003 B TR 2 Bt 080200 WU TFE 2= H il fi-1: 88.0
284 TR 003 ML TRE 2 Bt 080200 WL TAE 4= Hii fiji I 88.33
285 KK 5 003 B TR 2 Bt 080200 WU TFE 2= H il fi-1: 84.17
286 KA H: 003 B TR 2 Bt 080200 WL TAE 4= H i fiji+ 89.17
287 B 003 B TRE 2% B 080200 MU T2 4= H il fifi -+ 90.33
288 T% 003 B TR 2 Bt 080200 HLBE T FE 4= H il fiji I 86.33
289 W i 003 B TRE 24 B 080200 MU T2 4= H il fifi -+ 85.33
290 TR L 003 B TR 2 Bt 080700 | shJ LAE R LREHIEE | 2 HH JERE %D 92.0
291 R E] 003 B TRE 24 B 080700 | shALFER TEAMHE | 4H4 A 91.0
292 M3 ok 003 B TR 2 Bt 080700 | shJ LAE R LREHWIEE | 2 HH JERE %D 90.3
293 G A2 003 HLHL TRt 080700 | sh W TR TREHMIE | 2 HH At 89.6
294 Lk 003 ML TR 2 Bt 080700 | shJ TLAE R TREHWEE | 4 HH JEREn 91.4
295 iy 003 ML TRE 24 B 080700 | sh iy TRER TREAMEL | 2 HH| HiHAE 90.1
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296 SERLIEAS 003 ML T2 2 Bt 080700 | /) TAE R TREHAWEL | 4 Hifl JERE 90.6
297 v B 003 HLHL TRt 080700 | sh W TRELR TREHAMEL | 2 HH HiA 89.6
298 gk 003 B T FE 2 B 080700 | i) TAE R TREAWEL | 2 Hifl JERi S 90.8
299 EHWEN 003 ML TRE 24 B 080700 | sh iy TRE R TRE#AWIEL | 2 HHI HiHAE 93.0
300 5 003 ML T FE 2 Bt 080700 | ) TAE R TREAWEL | 4 Hifl JERi S 91.0
301 FEH 003 HLHL TRt 080700 | sh W TR TREHMEE | 2 HH HiA 90.0
302 X 003 B T FE 2 B 080700 | ) TAE R TREAWEL | 2 Hifl JERi S 90.4
303 i Ik 003 HLHL TRt 080700 | sh W TRELR TREHMFE | 2 HH fiji -+ 88.0
304 Jit 2 003 B T FE 2 Bt 080700 | ) TAE R TREAWEL | 4 Hifl T -1 89.0
305 5 003 B TR 2 Bt 080700 | sh iy TR TREHAWEL | 2 HHI fiji -t 86.8
306 2750 003 B TR 2 Bt 080700 | iy TAE R TREMAWEL | £ Hf T -1 91.6
307 XTI 003 B TR 2 Bt 080700 | sh iy TR TREHAWEL | 2 HHI fifi + 91.2
308 ) S84 003 MLHL TR 080700 | sh W TRER TREHYFE | 2 HH fifi + 91.2
309 TR 003 ML FE TR 2 Bt 080700 | sh iy TR TREHAWEE | 2 HHI fiji -t 86.6
310 Fa 003 B TFE 2 Bt 080700 | shJ TAE R TREMAWEL | £ Hf T -1 91.0
311 AE s 003 ML FE TR 2 Bt 080700 | sh iy TR TREHAWEL | 2 HHI fiji -t 90.8
312 X G 003 ML T AR B 080700 | sy TRE K TREAWEL | A Hil fi-1: 89.0
313 REEE 003 ML TRE 2 Bt 080700 | s /i TRE R TREHAW L | 4 Hil fiji I 89.8
314 WA 003 MLHL TR S5t 080700 | sh W TRER TREHWMIEE | 2 Hil fifi + 94.2
315 JHEH 003 ML TRE 2 Bt 080700 | s/ TRE R TR | 4 Hil fiji+ 93.2
316 S 003 MLHL TR 080700 | sh W TR TREHMIEE | 2 Hil fifi + 92.0
317 T2 N 003 ML TRE 2 Bt 080700 | s/ TRE R TREHAWEL | 4 Hil fiji+ 91.0
318 ] ¥ 28 003 MLHL TR 080700 | sh W TR TREHMIEE | 2 Hil fifi + 89.2
319 g 003 B TR 2 Bt 080700 | s TFE R TREHAWEL | 4 Hil fiji+ 90.0
320 i 7KL 003 HLHL AR5 B 080700 | sh u TRE K TREAWIEL | 2 HHI fifi -+ 88.0
321 ZEE R 003 ML ERL TR 2 B 080700 | shJ LAE R LREHWIEE | 2 HH fifit+ 92.6
322 Rt} 003 HLHL AR B 080700 | sh iy TRE K TREAWEL | 2 HHI fifi -+ 92.6
323 JiEIL 003 B TR 2 Bt 080700 | shJ LAE R LREHIEE | 2 HH fiji I 90.6
324 TEALAR 003 HLHL AR5 B 080700 | sh i TRE K TREAWIEL | 2 HHl fifi -+ 88.0
325 e 003 B TR 2 Bt 080700 | shJ LAE R LREHWIEE | 2 HH fiji I 93.6
326 TkRE 003 HLHL TRt 080700 | sh W TR TREHMIE | 2 HH fifi + 89.4
327 NN 003 ML TR 2 Bt 080700 | /) TAE R TREHAWEL | 4 H il fiji - 90.2
328 F i 003 HLHL TRt 080700 | sh W TR TREHAMIE | 2HH fifi + 90.6
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329 Bt 003 ML T2 2 Bt 083700 RS TR 4= Bl fiji - 87.4
330 [ 003 HLHL TRt 083700 TR TR 4 H il fifi 1 79.8
331 NS 003 B T FE 2 B 083700 wERF S TR 4= Bl T -1 81.0
332 Bl 003 HLHL TRt 085500 MUK 4= H il fisi + 88.4
333 AL 003 ML T FE 2 Bt 085500 WL 4= H il fi -1 89.8
334 Joi ¥~ 003 HLHL TRt 085500 MUK 4= H il fisi + 92.2
335 =Rtk 004 &R 5 HE AR 081000 & E5EE TR 4= Bl fi -1 90.0
336 22511 004 & BEE S HE AR 081000 SERSIEELRE 4 H il fifi 1 92.0
337 g 004 &R 5 HE AR 081000 & E5EE TR 4= Bl T -1 90.0
338 T AEI 004 = SRS E RS 081000 &G TR 4= H il fii+: 90.0
339 & 004 & R 5 HE AR 081000 &R TR 4= Hl T -1 90.0
340 ho & 004 & ERE S HE AR 081000 SESIEE LR 4 H il fisi £ 90.0
341 FE 004 G IERE S HEAR B 081100 RS TR 4= H il HHAE 88.0
342 HRR 004 = SRS E RS 081100 PRSI 4= H il JER D 92.0
343 BT 004 &R 5 HE AR 081100 Bk S TR 4= Hl T -1 88.0
344 Tz 004 = SRS E RS 081100 PR S TR 4= H il fii+: 90.0
345 AR 004 5 ERE S HE AR R 081100 RS TR 4= H il fifi + 88.0
346 JEAE TR A 004 = SR FESE AR 081100 RS TR 4= Hii fiji I 89.0
347 MFEA 004 G ERE S HE AR B 081100 RS TR 4= H il fifi + 90.0
348 FERTT 004 = SR FESE AR 081100 RS TR 4= Hii fiji I 88.0
349 1 15 1S 004 G IERE S HE AR R 081100 RS TR 4= H il fifi + 86.0
350 EER 004 = SR FESE AR 081100 RS TR 4= Hii fiji+ 87.0
351 (CRERLS 004 G IERE S HE AR R 081100 RS TR 4= H il fifi + 88.0
352 ES =2 004 = AR FESE AR 081100 RS TR 4= H i fiji -t 90.0
353 =5 004 & REHEE S HE AR 081100 EHR S TR A H il fifi -+ 93.0
354 X1 004 & AR 5 HE AR 081100 RS TR 4= H il fiji I 89.0
355 2= A AT 004 & REHEE S HE AR 081100 EHR S TR A H il fifi -+ 87.0
356 JA R F 004 & AR 5 HE AR 081100 RS TR 4= H il fiji I 89.0
357 JaE 004 5 B R F S5 EAR S 081100 EHR S TR A H il fifi -+ 92.0
358 T EH 004 & AR 5 HE AR 081100 RS TR 4= H il fiji I 89.0
359 1 004 5 R R S AR B 081100 EHER S TR 4= H il fifi+ 91.0
360 BT 004 & AR 5 HE AR 081100 RS T 4= Bl fiji - 90.0
361 FH R 004 & BRHEE S HE AR 081100 RS TR 4 H il fifi + 92.0
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362 4t 004 & AR 5 HE AR 081100 RS T 4= Bl fiji - 90.0
363 BRI 004 & BEE S HE AR 081100 RS TR 4 H il fifi 1 87.0
364 K= 004 G IERE S HE AR B 081100 RS T 4= H T+ 90.0
365 ik 004 & REE S HE AR 081100 RS TR 4 H il fiji -+ 90.0
366 i 004 &R 5 HE AR 081100 RS TR 4= H Tt 91.0
367 FH A 004 = SRS E RS 081100 RS TR 4= H il fiji -+ 89.0
368 PR 004 &R 5 HE AR 081100 RS T 4= Bl fi -1 89.0
369 JE A5 4 004 & BEE S HE AR 081100 RS TR 4 H il fifi 1 92.0
370 T 004 G IERE S HEAR B 081100 RS TR 4= H T+ 91.0
371 HEE 004 = SRS E RS 081100 PR S TR 4= H il fii+: 90.0
372 B2 004 G IERE S HE AR B 081100 RS TR 4= H il fifi + 87.0
373 Bk 004 = SRS E RS 081100 PR S TR 4= H il fiji -t 88.0
374 N R 004 G IERE S HEAR B 081100 RS TR 4= H il fifi + 91.0
375 TFR 004 = SRS E RS 081100 PRSI 4= H il fii+: 91.0
376 ] 004 &R 5 HE AR 081100 Bk S TR 4= Hl T -1 88.0 A
377 INElRE 004 = SRS E RS 081100 PR S TR 4= H il fii+: 92.0
378 Je A Ea 004 5 ERE S HE AR R 081100 RS TR 4= H il fifi + 87.0
379 ERt 004 = SR FESE AR 081100 RS TR 4= Hii fiji I 90.0
380 1B 5 004 &R 5 HE AR 081100 EiE S TR 2= H il fi-1: 88.0
381 BN 004 & AR 5 EAR R 081200 THHEEFE S HEHAR 4= Hl fifi + 84.0
382 PRI 004 G IERE S HE AR R 081200 THEVLEI S SHEAR 4 Hl fifi + 90.0
383 T RIE 004 & AR 5 E AR 081200 THEHRF S HER 4 [ i) fiji I 88.0
384 Xl 2 A 004 &R 5 HE AR 081200 THEVLEI S SHEAR 4 H il fifi + 86.0
385 TR 004 = AR 5 EAR R 081200 THEHAF SR 4 [ i) fiji+ 82.0
386 TR T 004 5 ERE S AR B 081200 THEHLE S SHEA 4 H fifi + 88.0 XA
387 FORA U 004 & AR 5 HE AR 081200 THEHRFESHEAR 4 H fiji + 87.0
388 EHA 004 & REHEE S HE AR 081200 ENEZESHAR 4= H il fifi -+ 87.0
389 T8 004 & AR 5 HE AR 081200 THEHEFESHEAR 4 H fiji+ 81.0
390 TP 004 5 BB SRR S 081200 THEHLE S SHEA 4 H fifi + 87.0
391 T 004 & AR 5 HE AR 081200 THEHEFESHEAR 4 H fiji I 90.0
392 W B 004 & BEHEE S HE AR 081200 ENEZESHAR 4= H il fifi+ 86.0
393 HET 004 SRR S HE AR SR 081200 HHEAEHEE S HEHA 4= H il fiji+ 88.0
394 B R 4 004 & BRHEE S HE AR 081200 THEPLE S HEAR E=kil fifi + 87.0
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395 ] SV A 004 G IERE S HE AR 081200 HHEAEHEE S HEHA 4= H il fiji+ 90.0

396 e 004 & BEE S HE AR 081200 THRVLE S EAR 4 H il fisi + 87.0

397 T 004 &R 5 HE AR 081200 THEHEI SR 4= Bl T -1 87.0

398 S EPA 004 & REE S HE AR 081200 THEHLE S EAR 4 H il fisi + 88.0

399 ERESE 004 &R 5 HE AR 081200 THEHEI SR Ex=kil fi -1 87.0

400 ARG 004 & BEE S HE AR 081200 THEHLE S EAR 4 H il fisi + 92.0

401 ULES 004 &R 5 HE AR 081200 THEHEI SR 4= Bl fi -1 83.0

402 o AR 004 & BEE S HE AR 085404 TR LA 4 H il fisi + 73.0

403 X1, 004 G IERE S HEAR B 085404 HHEPLEA 4= H il fifi + 83.0

404 e 004 = SRS E RS 085404 TR 4= Hi fii+: 83.0

405 PN 004 G IERE S HE AR B 085404 THRALEA 4= H il fifi + 82.0

406 T 004 = SRS E RS 085406 il TAE 4= H il fii+: 80.0

407 FIEH 004 G IERE S HEAR B 085600 MRS T 4= H il HHAE 83.0 AR B 7
408 bl 005 Z R BB 120100 HHA RS TR 4= H il fii+: 80.43

409 SE57) 005 LGB 120100 EHASTHE 4= Hl T -1 80.0

410 4 005 Z R B B 120100 HHA RS TR 4= H il fii+: 80.86

411 F B 005 LGB R 120100 EHAES THE 2= Hiil fi-1: 83.71

412 T 1% 005 Z R B B 120100 RS T 4= Hii fiji+ 85.43

413 S 005 BB R 120100 EHAESTHE 2= H il fi-1: 80.43 JE RFRTT B I
414 TEH 005 Z R B B 120100 RS T 4= Hii fiji+ 84.14

415 fi] 5% 3 005 LB R 120100 EHAFSTHE 2= H il fi-1: 85.29

416 R 005 Z R B B 120100 RS T 4= Hii fiji+ 81.29

417 AT 005 LB R 120100 EHAFSTHE 2= H il fi-1: 84.29

418 XY 005 Z R B B 120201 S 4 [ i) fiji+ 83.57

419 FHEC 005 A= 120201 S A H il fifi -+ 83.86 XA
420 TS 005 Z R B 120201 o 4 H fiji+ 81.57 JE RIRTT L I
421 | LRI AR R 005 A= 120201 S A H il fifi -+ 80.86

422 K3 005 Z R BB 120201 o 4 H fiji I 83.0

423 e 005 G T A B 120202 A= 4 H il i+ 83.71

424 T 005 ST 120202 Al 4= H il fifi + 83.57

425 BE R 005 T b 120202 AV EE 4 H il fifi + 87.0

426 X 005 Z R A 120204 HARG G R g 4= Bl fiji 85.43

427 BT 005 Z R P B 120204 HARZ G KT 4= H il fiyi+ 84.0
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428 | RBHBA R F A4 005 Z R B 120204 HARG G R g 4= Bl fiji - 84.86
429 FiRpfE 005 LGB R 120204 FR LU 3 4= H il fifi 1 81.86 XHA
430 BhEk 005 e 120204 HAG G R 4= Bl T -1 85.14
431 XS ik B 006 155 B 070300 b2 4= H il HiA 88.6
432 SR 006 155 070300 1= 4= H il JERi S 89.6
433 JE B 2R 006 155 B 070300 b2 4= H il HiA 91.4
434 2 1 006 155 070300 1= 4= H il JERi S 92.0
435 1Rl 006 155 B 070300 b2 4= H il HifA 89.8
436 ZLE! 006 155 070300 1= 4= H il JERi S 83.6
437 Kb 006 A== 070300 b2 4= H il JER D 86.8
438 2=k ik 006 b2 2B 070300 b2 4= H il fifi + 82.4
439 T i At 006 A== 070300 b2 4= H il fifi + 83.2
440 KT 006 b2 2B 070300 b2 4= H il fifi + 84.25
441 AT 5 006 A== 070300 b2 4= H il fiji -t 83.6
442 XI55 F 006 =T 070300 b2 4= H il fifi + 85.2
443 oG 006 A== 070300 b2 4= H il fifi + 83.4
444 B QI 006 = 070300 b2 4 Hl fifi + 86.2
445 B 006 2= 070300 b2 4 [ i) fiji+ 86.75
446 XU 006 = 070300 b2 4 Hl fifi + 87.0
447 T A ¥ 006 2= 070300 b2 4 [ i) fiji+ 87.4
448 e 006 122 B 070300 W 4= H il iyl 87.4
449 5K 0 A 006 2= 070300 b2 4 [ i) fiji I 88.0
450 Z= Bk 006 = 070300 12 4 Hl fifi + 87.6
451 i L 006 =5 070300 = 4 [ i) fiji+ 88.2
452 it 006 22 B 070300 b2t 4 H il fifi + 87.4
453 PR 006 b =BT 070300 b2 4 H fiji I 89.0
454 205 006 22 B 070300 b2 4 H il fifi + 88.8
455 A aEE 006 e 070300 b 4= H il fifi + 88.75
456 B gl 006 22 B 070300 b2 4 H il fifi + 89.4
457 P 006 =35 070300 b2 4 H fiji+ 89.2
458 i AE 006 222 B 070300 1= 4 H i) fifi+ 89.4
459 hE 006 155 B 070300 1= 4= H il fiji - 90.0
460 (RN 006 252 B 070300 1 A= H il fiyi+ 90.2
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461 k5 006 = 070300 b2 4= H il fiji+ 88.6
462 X AT 006 A= 070300 1 2= Hi fisi + 90.4
463 TR 006 = 070300 b2 4= H il fifi+ 91.6
464 SR T 006 155 B 070300 b2 4= H il fifi 1 90.2
465 ik R R 006 155 070300 1= 4= H il fi -1 92.4
466 AR 006 = 070300 1 2= Hi fifi + 90.2
467 B 006 155 070300 1= 4= H il fi -1 93.0
468 ¥R 006 155 B 070300 b2 4= H il fiji -+ 90.8
469 {ER % 006 = 070300 b2 4= H il fifi + 92.2
470 HH fik R, 006 A== 070300 b2 4= H il fiji -t 86.0
471 /= 006 b2 2B 070300 b2 4= H il fifi + 87.8
472 FEFH 006 A== 070300 b2 4= H il fiji -t 88.0
473 TEKH: 006 b2 2B 070300 b2 4= H il fifi + 90.0
474 W 006 A== 070300 b2 4= H il fiji -t 89.0
475 HATT 006 =T 070300 b2 4= H il fifi + 89.2
476 TR ek 006 A== 070300 b2 4= Hi fii+: 87.6
477 jeSiapiil 006 = 070300 b2 4 Hl fifi + 73.4
478 SR 006 2= 070300 b2 4 [ i) fiji+ 90.4
479 [S/ 006 = 070300 b2 4 Hl fifi + 88.8
480 prpea 006 2= 070300 b2 4 [ i) fiji+ 84.6
481 &8 006 = 070300 12 4 Hl fifi + 87.6
482 M 006 2= 070300 b2 4 [ i) fiji I 83.0
483 R 006 = 081700 2 TR HA 4= H il HAE 90.2
484 REENN 006 =5 081700 12 TS HEA 4 [ i) JEN e 92.4
485 AT 006 22 B 081700 1 TR HA 4 H il HAE 90.0
486 kLR AZ, 006 b =BT 081700 W TRSHEA 4 H fiji+ 85.2
487 RpIE 006 222 B 081700 S TR SHE AR A H il fifi -+ 84.75
488 {5 Y 7 006 b =B 081700 W TRSHEA 4 H fiji I 89.0
489 XI)FFH 006 22 B 081700 1 TR HA 4 H fifi + 89.2
490 A 006 =35 081700 W TRSHEA 4 H fiji+ 90.2
491 TN 006 W 081700 2 THESHEAR A H il i+ 91.6
492 T 006 155 B 081700 e TRSHEAR 4= H il fiji - 92.8
493 g 006 b2 2 B 081700 s TR HEA E=kil fifi + 91.8
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494 Xk 006 155 B 081700 e TRSHEAR 4= H il fiji - 88.2

495 B SR 006 155 B 081700 s TR HEA 4= H il fisi + 88.0

496 X F 006 155 085600 MRS T 4= Bl JERi S 84.29 ARG R
497 SJE) 006 A= 085600 MRS T 4= H il fifi + 87.57 WARE R 7
498 SR 006 155 085600 MRS T Ex=kil fi -1 88.25

499 RS 006 155 B 085600 MEHS 4T 4 H il fifi 1 77.43 B ASIA 5 77
500 BT 006 155 085600 MRS T 4= Bl fi -1 67.57 ARG R
501 Af IR 006 = 085600 MRS T 4= H il fifi + 84.29 WA B E R 7
502 X1 F-BH 007 ARl SRR S b 081700 2 TRSHEAR 4= H il JENES 83.4

503 B — 3} 007 A dr b S HER B 081700 % TRSEAR 4= H il JER D 93.2

504 fifines 007 kb SRR S b 081700 2 TRSHEAR 4= H il HiHAE 91.2

505 ik J& 007 A dr b S HER B 081700 S TRSEAR 4= Hi fii+: 90.6

506 X T 007 kb SRR S b 081700 2 TRSHEAR 4= H il fifi + 93.0

507 VR 007 A dr b S HER T 081700 % TRSEAR 4= Hi fii+: 87.2

508 5K BUE 007 ARk SRR S b 081700 2 TRSHEAR 4= H il fifi + 87.4

509 BERE 007 A dr b S HER T 081700 % TRSEAR 4= Hi fii+: 92.8

510 S ILE! 007 Akl SRR S 081700 2 TRSHEAR 4 Hl fifi + 92.6

511 B — 007 A dn B S HEAR S 081700 12 TR SHEA 4 [ i) fiji+ 86.2

512 L] 007 Akl SRR S b 081700 2 TRSHEAR 4 Hl fifi + 91.8

513 7R 007 A dn B S HER S 081700 12 TR SHEA 4 [ i) fiji+ 92.8

514 AR 007 Akl SRR S b 081700 2 TRSHEAR 4 Hl fifi + 93.0

515 e 007 A dr B S HER S 081700 12 TR SHEHA 4 [ i) fiji+ 94.6

516 JEER 007 Akl SRR S b 083100 EYIESE TR 4= H il fifi + 84.4

517 hikaE 007 A dn B S HEAR T 083100 YRS TIE 4= H i fiji -t 88.8

518 VR 007 Akl SRR SR 083100 EYIBEE TR 4= H il fifi + 85.0

519 B 007 ARl SRR F B 083100 YRS T 4= H il fiji+ 84.8

520 R BRI 007 AR SRR S 083100 LY TR A H il fifi -+ 91.8

521 RER 007 ARl SRR F B 083100 YRS T 4= H il fiji+ 83.4

522 X — 007 ARk SRR SR 083100 EYIBEE TR 4= H il fifi + 91.0

523 i 5 5 007 ARl SRR F B 083100 YRS T 4= H il fiji+ 84.4

524 =T 007 B SRR 5 083100 LY TR A= Hiil fifi+ 83.4

525 RIRET 007 AR S EARF B 083600 ) TFE 4= Bl JEREn 88.6

526 X R 1% 007 A B S HER B 083600 AP TR 4= H il HifA 81.8
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527 Ik 2 007 iRl SRR SR 083600 YT RE 4= H il fiji+ 92.0

528 Bz izt 007 A B S HR B 083600 EYTRE 4 H il fifi 1 84.0

529 YL 007 Akl SRR S b 083600 Y TR 4= H il fifi+ 87.0

530 S 007 A B S HER B 083600 EYTRE 4 H il fifi 1 92.8

531 J& Y K 007 ARl SRR S b 083600 Y TR 4= H il fifi+ 90.4

532 F 25 007 Akl S EAR R 083600 Y TR 4= H il fifi + 82.2

533 P 007 AR SRR T 083600 VTR 4= Bl fi -1 88.8

534 2= 5LAE 007 A B S HER B 083600 EYTRE 4 H il fifi 1 87.4

535 W Al 007 AR SRR T 083600 VTR 4= Bl T -1 83.4

536 (&N 007 A dr b S HER B 083600 EY TR 4= H il fifi+ 87.2

537 N 007 kb SRR S b 083600 YT RE 4= H il fifi + 85.4

538 R 007 A dr b S HER B 083600 EY TR 4= H il fifi + 84.4

539 SRUKAE 007 kb SRR S b 083600 Y TR 4= H il fifi + 88.2

540 B AA 007 A dr b S HER T 083600 EY TR 4= H il fifi + 87.4

541 ey 007 ARk SRR S b 083600 Y TR 4= H il fifi + 85.2

542 M= 007 A dr b S HER T 086000 Y5 4= H il JER D 89.57 WA B AR 77
543 kY 007 Akl SRR S 086000 W 5EE 4 Hl HAE 80.71 AR B 7
544 WAL 007 A dn B S HEAR S 086000 W52 4= Hii JEN e 85.43 RABE R+
545 FNEE TR 007 Akl SRR S b 086000 W 5EE 4 Hl fifi + 86.4

546 JEAE A 007 A dn B S HER S 086000 W52 4= Hii fiji I 80.8

547 B 007 Akl SRR S b 086000 W 5EE 4 Hl fifi + 72.6

548 NE 007 A dr B S HER S 086000 W5k 4= Hii fiji+ 73.6

549 T 007 Akl SRR S b 086000 W 5EE 4 Hl fifi + 83.0

550 T 007 A dn B S HEAR T 086000 W52 4= H i fiji+ 72.2

551 MR G 007 Akl SRR SR 086000 Y 5E 4 H il fifi + 79.4

552 RERA 007 iR SRR S 086000 AW EY 4= H il fifi + 77.8

553 Ay 007 Akl SRR SR 086000 Y 5EY 4 H il fifi + 76.0

554 5] 007 ARl SRR F B 086000 W52 4= H il fiji+ 86.4

555 X ik 007 ARk SRR SR 086000 W 5E 4 H il fifi + 84.4

556 FHRE 007 ARl SRR F B 086000 W52 4= H il fiji I 85.8

557 B 5 007 Akl SRR S B 086000 W 5EY 4 H il fifi + 81.4

558 Jik 2.3 007 iR SRR SR 086000 AV EY 4= H il fiji+ 83.8

559 SR 007 A B S HER B 086000 A5 2 E=kil fifi + 73.8
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560 5K fi 007 iRl SRR SR 086000 AV EY 4= H il fiji+ 83.0

561 ZNIIEE 007 A RHE S AR R 086000 A5 4= H il fiji + 84.57 B A IS 5 77
562 EEs 007 Akl SRR S b 086000 AV EEY 4= H il fifi+ 82.2

563 Je 007 A RHE S AR 086000 A5 4= H il i 1 78.8

564 PRI 007 ARl SRR S b 086000 AV EEY 4= H il fifi+ 83.2

565 RIS 007 A RHE S AR 086000 A5 4= H il i 1 72.8

566 T A 007 ARl SRR S b 086000 AV EEY 4= H il fifi+ 83.2

567 X 007 A RHE S AR 086000 A5 4= H il fifi 1 89.71 B A IA B 77
568 LA 007 ARl SRR S b 086000 AW EEY 4= H il fifi + 84.8

569 1M 007 A dr b S HER B 086000 Y5 4= Hi fii+: 78.6

570 &5 007 AR SRR S 086000 L 5E 4= Hl T -1 87.8

571 AE S 007 A dr b S HER B 086000 Y5 4= H il fifi + 72.8

572 % B 007 kb SRR S b 086000 Y EEY 4= H il fifi + 73.6

573 B 007 A dr b S HER T 086000 Y5 4= H il fifi + 75.6

574 B 007 ARk SRR S b 086000 Y EEY 4= H il fifi + 85.86 AR B 7
575 T 74 007 A dr b S HER T 086000 Y5 4= Hi fii+: 83.2

576 Pl 007 Akl SRR S 086000 W5 EY 4 Hl fifi + 73.2

577 TIFZR 007 A dn B S HEAR S 086000 W52 4= Hii fiji+ 75.6

578 S, 007 Akl SRR S b 086000 W5 EY 4 Hl fifi + 82.0

579 R 007 A dn B S HER S 086000 W52 4= Hii fiji+ 82.0

580 fa] A 007 Akl SRR S b 086000 W5 EY 4 Hl fifi + 82.0

581 REAIG 007 A dr B S HER S 086000 W5k 4= Hii fiji+ 88.2

582 s g 007 Akl SRR S b 086000 W5 EY 4 Hl fifi + 80.86 AT B 7
583 ES g 007 AR S AR R 086000 AW EY 4 H il fifi + 72.6

584 oS4 007 Akl SRR SR 086000 A5 Y 4 H il fifi + 81.14 AT B 7
585 BEBLE 007 iR SRR S 086000 AW EY 4= H il fifi + 85.71 RABRA B 7
586 B 007 Akl SRR SR 086000 A5 Y 4 H il fifi + 81.71 AT 5 7
587 AT IR 007 ARl SRR F B 100700 IS 4 H fiji+ 76.8

588 B 007 ARk SRR SR 100700 kS 4 H il fifi + 82.6

589 K FE AL 007 ARl SRR F B 100700 IS 4 H fiji+ 81.2

590 DG 007 B SRR 5 100700 S 4 H i) fifi + 82.0

591 UK E 007 AR S EARF B 100700 IS 4= H il fiji - 83.6

592 K2 007 Ak S EAR R 100700 kS E=kil fifi + 86.4
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593 X 2 007 AR SRR F B 100700 IS 4= H il fiji - 86.0

594 VFi: 007 Akt S EAR R 100700 2% 4= H il fifi + 88.4

595 [fEFR 007 Akl SRR S b 100700 75 4= H il fifi+ 81.0

596 KA 007 Akt S EAR R 100700 Bk 4= H il fifi + 77.2

597 SR 007 ARl SRR S b 100700 75 4= H il fifi+ 82.4

598 bk} 007 Akl S EAR R 100700 2% 4= H il fifi + 84.0

599 1TARIL 007 AR SRR T 100700 GBS 4= H il fi -1 79.8

600 AU 007 A B S HER B 100700 7y 4 H il fifi 1 83.2

601 XI| 75 3 007 ARl SRR S b 100700 75 4= H il fifi + 81.0

602 T 007 A dr b S HER B 100700 7% 4= Hi fii+: 81.0

603 Ay 008 RSB 030100 R 4= Hl T -1 82.67

604 LR 008 SC R 030100 152 4= Hi fiji -+ 81.67 X H A
605 A 1 008 SRR 030100 L2 4= H il fifi + 72.53

606 ¥rvkik 008 SC R 030100 152 4= Hi fii+: 68.13

607 MR 008 SRR 030100 ik 4= H il fifi + 74.67 A
608 K25 ek 008 SOV B 030100 s 4= H il fisi + 69.8

609 RIS 008 SR 030100 ik 4 Hl fifi + 83.53

610 WK i 008 SC B 030100 1EE 4= Hii fiji I 88.0

611 Ji 2R 008 SR 030100 L2 4 Hl fifi + 77.0 A
612 PR 008 SC B 030100 1EE 4= Hii fiji+ 77.33

613 L 008 SR 030100 L2 4 Hl fifi + 77.0

614 X8R 008 SC B 030100 1EE 4= Hii fiji+ 67.0

615 B R A 008 SR 030100 ik 4 Hl fifi + 86.0

616 TR 008 SCI R 120400 NI 4 [ i) fiji+ 87.6

617 JFHonfE 008 SRR 120400 NS R 4 H il fifi -+ 84.67

618 YFEH 008 IEE R 120400 NFLE A 4 H fiji+ 87.87

619 piy= 008 SRR 120400 NS R 4 H il fifi -+ 88.2

620 Tk EF 008 ISR 120400 NFLE A 4 H fiji+ 85.13

621 X 5 008 SRR 120400 NS R 4 H il fifi -+ 84.33

622 A ES 008 ISR 120400 NFLE 4= H il fiji+ 87.0 JE RIRTT L I
623 Wi 2 008 SRR 120400 NS 4 H i) fifi+ 88.13 XA
624 S FET 008 LR 120400 NFLE 4= H il fiji - 80.47

625 R 008 SCIAE B 120400 ANSLE R E=kil fifi+ 83.33 JE MR B I0
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626 kR = 008 SR 120400 INFLE 2= H fiii - 85.0
627 B T 4R 008 3L B 120400 NS R 4 H il fisi + 87.67
628 SRR 008 SIEE R 120400 ANFLE 4= Bl T -1 91.33
629 I /NE 009 I B SR 030500 o 8 AR 4 H il fiji -+ 90.6
630 R 009 I [ 3 2R 030500 vl 83 AR Ex=kil fi -1 91.0 |IBBRFA 4 itk
631 FNEA 010 LE BTG 125300 24t 4= H il fifi + 85.14
632 EHFE 011 e 070100 s 4= H il fifi+ 86.6
633 R E 011 el 070100 e 4= H il fifi + 84.6
634 Tk H 011 e 070100 s 4= H il fifi + 62.4
635 TRET 011 B 2R 070100 e 4= H il fifi+ 83.2
636 AR 011 K 070100 Het 4= H il fifi + 85.8
637 iI=RES 011 sl 070100 e 4= H il fiji -t 96.0
638 S 011 K 070100 Het 4= H il fifi + 92.4
639 XIHESE 011 2R 070100 e 4= Hi fii+: 92.2
640 5K WK 011 K 070100 Het 4= H il fifi + 89.4
641 D 011 2R 070100 e 4= H il fiji -t 86.6
642 ThE & 011 BOE 2= 070100 i 4= H il i+ 67.6
643 X JiRk #k 011 sl 070200 PSS 4 [ i) fiji I 85.6
644 TR 011 B 2B 070200 YFE 4 Hl fifi + 92.6
645 Bt 011 sl 070200 PSS 4 [ i) fiji+ 97.0
646 T 011 et v 080900 BB S HEAR 4 H il fi-1: 94.6
647 H 011 2R 080900 B RS EAR 4 [ i) fiji+ 87.0
648 [ 011 et v 080900 BB S HEAR 4 H il fi-1: 90.6
649 F—i 011 Sl 080900 B RS EAR 4 [ i) fiji -t 88.8
650 TRRHE 012 B RS TRE Bk O BT O 080500 MEEE S TR A H il fifi -+ 91.11
651 N 012 fﬂx%bﬁﬂ% 5 TR RS R AN HT O 083600 ) THE 4= H il fiji I 89.55
652 TR 014 (AL B T REIf 2B 085600 MELS T 4= H il fifi + 93.0
653 B 014 A i B TR 2B 085600 MRS T 4= H il fiji+ 94.0
654 S 014 ERE B TR T 2 B 085600 AT A H il fifi -+ 91.0
655 SR 014 A i B TR 2B 085600 MRS T 4= H il fiji I 93.0
656 IR 014 ERE B TR T S Bt 085600 MRS T A= Hiil fifi+ 95.0
657 T 014 ELA i B TR 2B 085600 MRS T 4= Bl fiji - 95.0
658 FR N 014 ERE B TR T 2 B 085600 MRS T 4= H il fiyi+ 94.0
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659 H#I: A 014 ELA i B TR 2B 085600 MRS T 4= Bl fiji - 89.0

660 Ir B 014 ELE s B TR 2 B 085600 MEHS T 4 H il fiji -+ 98.0

661 AR TR 014 A2 B T R 2B 085600 MES L 4= H il fifi+ 96.0

662 SN 014 ELE s B TR 2 B 085600 MEHS T 4 H il fifi 1 92.0

663 BT 014 R B TR B 085600 MRS T Ex=kil fi -1 90.0

664 A A 014 ELE s B TR 2 B 085600 MEHS 4T 4 H il fiji -+ 93.0

665 FH AR 014 R B TR T B 085600 MRS T 4= Bl fi -1 98.0

666 AFr il 014 ELE s B TR 2 B 085600 MEHS T 4 H il fifi 1 82.86 B A IA B 77
667 IMEE 014 R BT AR B 085600 MRS T 4= Bl T -1 90.29 ARG R
668 FhE 014 EUA2 B TRl B 085600 MRS T 4= H il fiji -t 85.86 AT A B
669 SRl 015 ARG IR 085507 Tk T 4= Hl T -1 90.13

670 Ak 015 SARGEIR 085507 Tl TR 4= H il fiji -t 89.5

671 HER I 015 ARG R 085507 Tk T 4= Hl T -1 89.38

672 HEA 015 SARGEIR 085507 Tl TR 4= H il fiji -t 90.5

673 hEE 015 ARG R 085507 Tl T 4= Hl T -1 91.86

674 HEE S 015 SRR R 085507 Tl TR 4= H il fii+: 86.0

675 WIS 015 ARG R 085507 Tl T 2= Hiil fi-1: 87.88

676 B R 015 SARGEI R 085507 Tl TR 4= Hii fiji+ 87.63

677 BERN 4 015 ARG R 085507 Tk T 2= H il fi-1: 82.5




